52 RiEER#ETF ILEST)L 53

Tl = e R #87K #MER—X;SUS304
HERIEARI N TS Av)—Fa—J 5 B £5 4/ 1-C3604
HEiE: Skef/cn
CIE Fa—J &%k | &N
" 3 . KFvbD ZERS [HZ[REFE[RE]| 8
IR N § +2 B-PF L OD | ID | t |H&
K*A—I\—hTS5 #& H SS */\fHhFTS5 # HE SS.C3604, SUS304 e . 250 300
HAX 1/8~1/4 HA4X 1/8~1 400 500
1/2 600 800 16 | 115 03 | 40
PH SH 1000 1500
- 2000
WM#;‘.W i .W. mgug:;;g 250 300
i s i e, e 400 500
ﬂ 3/4 600 800 195 [ 145| 03 | 50
PM PM L — 1000
ﬁi!ﬁ'ﬁ%%w JLEFE=YTILIEHIZE
.ma@*m
JLEFa—T & #aK M E7h—2R ; SUS304
SF Jrraq)LE R+ vhk,C3604
H E it £ : Skef/cni
M Fh Fa—T~fik =
RFIbD ZERS [N BR|AR|AE [ «om| f
) BESe |+ B-PF L OD | ID | t | T&c |*#&
= e - 250 300
MK ENTS *TSPAZFS  #F & SS. C3604, SUS304 1/2 400 500 20 | 13 | 03| 30 | 25
HA4X 1/8~1 600 1000
250 300
TPH TSH o 3/4 400 500 26 | 185] 03 | 30 | 27
o t 1 600 1000
L] 300 400
o 1 500 325 24 | 03 | 30 | 30
ILXA-YTLIERIFH AL —Fa—THEERE

N BA&ILFFai—THAA #ME: &Kk C3604
ILFRR—IL/NLD & FATE: Skef/cn N ABS
Y=, TIRY

MEBIER TS *SPHFS5  # B SS.C3604, SUS304
HAX 1/8~1
P S

W =N
\_‘;%"K‘(

SUZUKI BRONZE FITTING CO., LTD

HARZ2O0RYF nan




54 JLFTIL ZLXSTI)L 55

R _ ; A R TERYAEDRR  #ME -2 SS k— R TPyt Tl
7\’51/I~7l/—‘¥-7|'\ X(/Z)lfﬁ') ".%"HEHI‘HTIE 0.3kg/Cfﬁ /ZUHH},;BSBM ﬂ"fl:l/ﬂ'\ XTJt/7J ﬂ? *f]‘ 7V %2 | 8B | &/
HESARB Ag 0-Y'F x| PREER oME | PO | ES | A
FE Fa—I& [ gn | /R A& fE B o L D [ ¢ |ke/em&mm
Wity | BER |z | we | @t LE #3, JIS B8360FVEE 250 300 400
B-PT L oo | o [ER] 4 HOAVYITL—F 4t 1/4 500 600 800| 14 | 6.4 | 105| 60
1/4 300 400[ 13[65[ 40 ] 6 , 1000 1500 2000
3/8 1300 400 15[95][ 50 8 250 300 400
o3 3/8|500 600 800| 16 | 9.6 | 105 80
— FRZEME. NEMHE  ME ILE SUS304 1000 1500 2000
AZAUHTLF UU 1=+ FCMB N ~ 300 400 500
7u-+; SUS304W 1/2|600 800 1000| 21 [ 13 | 70 | 100
¥ #h N A=A 1500 2000
o | BER | & | & | BORS
B-PT L ob| D L
3/8 300 17 | 10 38
1/2 400 21 | 14 41
3/4 500 28 | 20 49
1 600 35| 26 54
11/4 800 43 | 33 60
11/2 1000 50 | 38 67
2 (EHRIZEY)| 66 52 74
SAEEICKYI=FHSUSIADEDEHYET,

M=, NERMIE #1874 SUS304
775%°JIS B2212 JIS 10K #]#& 750y SS-41

FEIEN-2770Y 7L-+; SUS304W [ wav| I wav| g [ HBE [#av]
oF 7 AR [2=A> il il o L B B il L I B PR B e s
Mo | 2R | & | & | BORS B s B s B s
B-PT L oD | ID Q 1/8/ 30| 14 ] 3 1/81 31 ] 14 ] 3 1/8] 22 | 21 [ 14 ] 45
1 300 35 | 26 50 1/4] 35| 19 [ 55 1/4| 34 ] 19 ] 55 1/4] 27 ] 24 | 17 [ 55
11/4 400 43 | 33 50 3/8] 40 [ 22| 8 3/8| 42 | 22| 8 3/8] 30 [ 29 | 19 ] 8
11/2 500 50 | 38 50 1/2] 471 27 ] 8 1/2] 48] 27 ] 8 1/2] 38 ] 33 ] 24| 8
2 600 66 | 52 50
21/2 800 82 | 66 50 .
3 1000 97 | 76 50 B IL*
4 (EHRIZEY) | 124 | 102 50 RT—tik HR=E g
R\ ER g | | s | e | D
AR ENET e ER[EKRe/om)] FEE(e) 1 | 25[56]49[105] 5 | 3 | 6 [15° | 15
EERE 02 x| R 5 1 ||V [TV 11/4) 32 [ 69 ] 68 ] 93] 5 [ 3 [ 6 [15° ] 15
500] 750]1000]1500[2000[2500| /Is | 18 |™ 1o | 4 11/20 40 [ 771 731 93] 5 [ 4 | 6 [15° ] 15
210] 320[ 500[ 650]/1000]/1300{ 30| 150] 50| 500] 180[ 320 2 |50[87[87]99] 7 [ 8 8 [15°] 15
190| 320 500] 650]/1000[{1300] 35| 200] 45[ 450| 230 405 21/2] 65 | 108[106[108] 7 | 8 | 8 [15° | 15
155| 320] 500] 650]/1000[{1300] 40| 200] 40[ 400| 360] 630 3 ] 79 [124[117]116] 8 | 8 [ 8 [15° | 15
145| 320] 500] 650]/1000[1300] 50| 250] 40[ 400| 500] 865 4 | 99 |145[141[129] 10] 8 | 12 [15° | 15
105/ 305] 500] 650]1000[1300] 60] 300] 35[ 350| 660]1130 5 |124] 180 168] 142] 12 | 8 [ 12 [15° | 15
75| 230] 480| 650]/1000]1300] 150| 350] 30| 300| 810[1375 6 |150]211[197]156] 14| 8 [ 16 [15° | 15
65/ 190] 360] 650[1000]1300] 280] 600] 20[ 200] 890[1570 752213 JIS B2212 10kg/cmZd 82y
45| 130] 260] 650]/1000]1300] 380] 800] 20] 180]1530[2530
35| 110] 225] 545]/1000]1300] 550[1500] 20] 180][1960[3210
30| 75| 155 400] 780]/1300]/1000{1800] 20| 180/2980]4720

SUZUKI BRONZE FITTING CO., LTD A0 RABT nxai



56 #AHaE JKmEEt 57

Hy—2=9FIL #CE FANT— FHULBES
13.5
< . ME= 7
T___| I F5 I B ARILR
' Ho5AE X BT+ i m|[2E
.15__ T e 50X 1/8~1/2 AEXES T it E
A S (Ao =Hith) 75X 1/8~1/2 6 x40 M10Xx 15| 12 [ 20 | 62
LQJ'\B 100X 1/8~1/2 - 6x50 |M10x15| 12 | 20 | 72
125% 1/8~1/2 & 6x80 |M10X15| 12 | 20 | 102
_ |#Eay - |EET o [EET 150X 1/8~1/2 6xX100 |M10Xx15| 12 | 20 | 122
wog | B |28 o | WAL ;gg ] wprs | WAL ggg kA 200 % 1/8~1/2 | i1 8x50 [M12x1.75| 13 | 24 | 75
s s s 250% 1/8~1/2 oy 8x80 [M12x1.75| 13 | 24 | 105
A1/8 1/8PT [ 20 [ 10 B1/8] 1/8PT | 8 | 10 ci/s| 1/8PT | 8 | 10 300 % 1/8~1/2 (ﬂ@ 8x100 [M12x1.75| 13 | 24 | 125
Al/4 1/4PT | 25 | 14 Bi/4| 1/4PF | 8 | 14 cil/4| 1/4PF | 8 | 14 HSRAESEZE 13mm [400% 1/8~1/2 . 8x140 |M12x 175 13 | 24 | 165
A3/8 3/8PF | 25 | 17 B3/8| 3/8PF | 8 | 17 c3/8| 3/8PF | 8 | 17 HIRENE 8mm  |500% 1/8~1/2 10x80 | M14x2 | 19 | 28 | 110
AM6F [M6x0.75| 15 | 7 {REEHE 16mm 600X 1/8~1/2 10x100 | M14x2 | 19 | 28 | 130
A6X10 | M6x10 | 15| 7 1000 X 1/8~1/2 10x140 | M14x2 | 19 | 28 | 170
KE AT 10x180 | M14x2 | 19 | 28 | 210
KRAAYR R
F_;.{ HIRAA A4S NIRRT —D KEHLTEE
|
Wi e TR x
s J, ¢! , Bt
L/ 282 a 25%1/8 ﬂ
™F 25%x1/4 4
N A P N L 32x1/4
IR AL ) i T E R AT ROT 3 e : 38x1/4 -
B S B S 38x%3/8 _ B {++30;3/8PF
1/8 17 18 1/8 10 27 w 50 x 3/8 ) HSREE 1279
1/4 17 21 1/4 14 30 75%1/2 EEEI{TED
HSREDOTR
. “ ' (ET4£);15mm
TU=RNv7 JIS B 1574 F1ANHvT JIS B 1573 R | o RO ‘
. 4 Bft | Tesrm 25 ﬁ%ﬁx%@ @V IAYDS
[ 1 . *UB &
3/8 9.6 90 13
i 1/2 12.7 90 15
BE RS | hyy @8 0o 3/4 19 100 17
W xmits | OF | 250 gH'E’
. DxB D2 |7s™ gﬂ_‘ﬁ'z{xB/SPF
T Fh S |[#aTax 18x1/8 | 22 | 12 | 37 ﬁ\gf;g;;jlg'”’
p— =T =V AP R0Y: 22x1/8 | 25 | 12 | 41 ﬁgﬁya’ﬁﬂg’)
DxB ht | h S 22%x1/4 | 25 | 14 | 45 ﬁ‘éi%@nﬁﬁ
20x1/8 | 30 | 22 12 28%x1/4| 32 | 14 | 51 (LT 4£)1 5mm
25x1/8 | 36 | 26 12 34x1/4| 38| 14| 58 ——— o
32x1/4 | 45 | 33 14 34x3/8| 38| 17| 60
38x1/4 | 52 | 38 14 45%x3/8 | 48 | 17 | 73
50x3/8 | 63 | 44 17 45%x1/2 | 48 | 21 | 77
65x3/8 | 75 | 51 17 68%x3/8| 60| 17 | 89

68x1/2 | 60 | 21 | 92

SUZUKI BRONZE FITTING CO., LTD A0 RABT nxai



